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GCSE Mathematics
Practice Tests: Set 5

Paper 1H (Non-calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

e Use black ink or ball-point pen.
o Fill in the boxes at the top of this page with your name,
centre number and candidate number.
¢ Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
¢ Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question,

Advice
¢ Read each question carefully before you start to answer it,
¢ Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.
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Answer ALL questions.

Write your answers in the spaces provided.

HCF LM

You must write down all the stages in your working.

(a) Find the Highest Common Factor (HCF) of 12 and 20

,’2. N e bl\'-Z_

2O )12y PR T T X

(b) Find the Lowest Common Multiple (LCM) of 32 and 48
32 [ =
Uq =

(Total 4 marks)
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Roho ond Proporhon

2. 5 schools sent some students to a conference.
One of the schools sent both boys and girls.
This school sent 16 boys.

The ratio of the number of boys it sent to the number of girls it sent was 1 : 2

The other 4 schools sent only girls.
Each of the 5 schools sent the same number of students.

Work out the total number of students sent to the conference by these 5 schools.

. 5"
Bc?:jsc»r\.ol Crrls | : ’ZG_—
Sches\ . . _ \
i) 1627 Cotal = U 8 pupi\s
3 ug
Grins ScheslS LX4& = A2g s u
LeEpupns e ) (R
2L O pupls =
2O
(Total 4 marks)
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Stonded Fers Calaudadion g

3. (a) Work out the value of (6 x 10%) x (4 x 107)
Give your answer in standard form.
SPUY | Exuw= 24
1¥xlo” = 16%
comuni | 2exi0”
‘6
Soded - | 2. x0T ) 2410
fom e @
(b) Work out the value of (6 x 10%) + (4 x 107)
Give your answer in standard form.
&x 10" = 600000000 @
L 1ST - LOOOOO OO
G U000 0000
Stovlest t

Form © |= & BXIO Clexio

)

(Total 4 marks)

4.  Samrolls a fair dice 150 times. .
Work out an estimate for the number of times the dice will land on 4 Q_o,lqm (:\,..ewej
- L
Prlee by of oL | P (W) = 3
5 \ - O25
QQ,laMf'T/o.q}mfﬂ G))-(lSO--._—.IS(.‘)-G 6’\830_
= 25
—
................ =
(Total 2 marks)

Practice test paper 1H (Set 5): Version 1.0



Similas Slfp_fzes

5.
ik
~—._ 14 cm
.
‘\_\__ﬂ-—
A 12 cm B D 8cm E
——
> | =
ABC and DEF are two similar triangles.
Angle ABC = Angle DEF
Angle ACB = Angle DFE
Work out the length of BC.
<SCou-e -pc\c:\—er“ - =1.5
2|

(Total 2 marks)
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Brachon Operahyons

6. (a) Work out 1 *F 2
3 5
Lom=1s | =, & _
35 | S
— It
s
(2)
(b) Work out 2z X lé
4 5
Give your answer in its simplest form.
3 "
Zy T u ., 3 - X8
l.:.‘_ 8 4 S 20
ST =
= Bt e RE
%.'MPHC:J = -—I-E)-_‘ = 22
........................ - Y
3)
(Total 5 marks)
7. (a) Solve the inequality %b\““':fj Inpac(has
3t+1<r+12
(-) |3t <+
("t 2k 4 I ty
. ) L u E< =
Ces M e e
(=2) s @
(b) tis a whole number.
Write down the largest value of ¢ that satisfies
3+l <t+12
]
e L .

;—___——-—____ .....................................

(Total 3 marks)
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8.  The distance from Caxby to Drone is 45 miles.
The distance from Drone to Elton is 20 miles.

, 45 miles A 20 miles :
1 i

1
Caxby Drone Elton

Colin drives from Caxby to Drone.
Then he drives from Drone to Elton.

Colin drives from Caxby to Drone at an average speed of 30 mph.
He drives from Drone to Elton at an average speed of 40 mph.

Work out Colin’s average speed for the whole journey from Caxby to Elton.

Sourarg | “Sowrey 2 et
S = 20w S =%Omphn S = @ = 32. I ovpin
P =uSmies Y —2omiles D= @ =6S mdas
T == s T =®zosk T=®=2n

D _ _ 2 T=L =B - 1 ga
@T:-—S—-— ¢ = |l O S m

i

@ T= t-gatro-gn=2h @ D:WSM:LQ;HC»\-L@-;éS'm.s

6S'd_u ....... mph
- O :
@ S= == ’ZMM/S Sl
9. () Factorise ¥2—49 Exponding onQ| € duvey Duadree
/I:‘"_. s (etodioce)| . e = C:(;k":l’) ('x—'_:ﬂ
A
- (D))
()

(b) Expand and simplify 2y + 7)(y - 3)
Expand | 24 —6q+I3y—2|
2
2 =L
et l 23?- g 2l v N A L.

(Total 3 marks)

Practice test paper 1H (Set 5): Version 1.0 7



S}ch@h-(- Line Peperhes

10. Here are the equations of 5 straight lines A, B, C, D and E.

A y=3x+4d
B y=2x-3
C  y=2¢+3
D y=5x-4
E  3y=x+3 ZonAXHC
(:‘3)3:%—#\ 7‘ '&

One of the lines goes through the point (0, 3). aradi ot MW}"

a) Write down the letter of this line. T ‘
& 4= wlecepe =2

.
Two of the lines are parallel.-—:_—;m &rad;\\v{]'
(b) Write down the letters of these two lines.
Bondd C have apedion-=2-
[ T ST
1)

(Total 2 marks)

11. Factorise fully 3x)? — 6x°y T—_-G\. Cler r.s.\;%
=2
=2 (=x 52— 21X \3)
= TR (“_‘]‘L" ?—1-23)

=, —Sbhj(‘j— '?_DC—Z)

—_————

(Total 2 marks)
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P\c:ﬁ‘\‘rv'ﬂ Cubics
A= :(1)3+2(|)-| = 1+2-1 =2
szon Y=@F 120) -1 = Oto- ==
PRy '3-—(-7.)%2(-2)-\ —B-4-t ==13>

(a) Complete this table of values for y = x* + 2x — 1

x -2 == | 0 1 2
v —13| 4 — | o 11

(2)
(b) On the grid, draw the graph of y =x* + 2x — 1

2)
(Total 4 marks)
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\/chaﬁfm s

13. Here is some information about 100 students.

60 students study French. B
36 students study Spanish. @ o-te=EG

14 students do not study either French or Spanish. S ks 6° ko Tl ovcles,

(a) Draw a Venn diagram to show this information.

But &o+36 =q¢

- .de- €6 (T
s st e Al s,

('Fr\ S)

4)
One of the 100 students is picked at random.
(b) Work out the probability that this student studies French or Spanish or both.

P(feermc o2 panz sH ol Bom) = €6
<o R N s 18 \ O
6
(OO
(2)

(Total 6 marks)
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14.

Q‘V\SLQ.S an (Pe&ﬁm}

A B Diagram NOT

\ accurately drawn
c

ABCDEFGH is a regular octagon.
KLQFP and MNREQ are two identical regular pentagons.

Work out the size of the angle marked x.
You must show all your working.

@-2) x1g0 = O8O

lo 80" e (S
e J

(g—z)xl'B'O: Su—0°
‘SLuOQ - IOSG 20
5

o u\j°+lO<Z° =<8

V\P: @%F = 2?°:®?‘E

X = \gF-27 27 = 126

Q™

Sum e mieriars = (n2) x120 (n=sidey) 1839,
to 3o
: oOI1B3S '
B S el 8 JSRE “
Nouo Pﬂc"\
| 180,
—
OB S 4o
T .
s) s«o
Wc-l-'?_: :tja
G
(-(0L)

RBase agles W isetceles niogle ((idokeat p-o/dcﬁo«s)

- horngle = KO
M\es sl 9 (Total 4 marks)
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15. The diagram shows two identical squares placed side by side to form a rectangle

All measurements are in centimetres.

4—10x-2——» .
! Diagram NOT
T accurately drawn

X+ 5

l

Calculate the numerical value of the length of the rectangle.

Lengin= o_xscv\mﬂ_;M s~ 1= 2L
(=2) Sge~l = L

st :me Sa—1 = By

(2| 2x-! = ®
("l‘l) 22 = S
C':-'Z.) 20 = <
(enghref rectogle | = 10 —2
— lO(s) T e ?’g ..... cm
“ 8y = =23 (Total 4 marks)
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| ndepndodk Probaally Events

16. S'isthe event ‘picking a red counter’ and P(§5) = %

(a) Write down the value of P(S'")

SU\MC}'P ‘Prche—b\\:ﬁ\.-e-l =]

T = [ '——-[—-P[,S\
NGT protocioduey () =1 -PE)] ~ RS

=2
= b- -a“
- 3
.
b
eSS DN oS

Miles puts 3 green blocks, 5 white blocks and 1 pink block in a bag.

He takes at random a block from the bag.
He writes down the colour of the block.

He puts the block back in the bag. / ;

He then takes at random a second block from the bag and writes down its colour.

(b) Work out the probability that

(1) he takes one white block and one pink block,

Pluute 000 p) = Py, @) + P (BW)

= (=)t (%) ©
2 e B 8. B L 3\
5. = . ——

(ii) at least one of the blocks he takes is white.

Plubdeones) = P(w,P) +0 (PW) +0(Grew) +P(Wi G) P (win)

N/
—_— TS
o T (R R (5 )
8\
Q (i) oy . 1 ‘_l'l(s)
== = —
=, _l_ﬁ — -%—‘ + :s.l\_ \ %\ (Total 6 marks)
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Volume o prsmas fluid s

17. Sumeet has a pond in the shape of a prism.

2m

0.5m

1.3 m

Diagram NOT
accurafelydrawn
e

\
|

;

|
|

The pond is completely full of water. \
Sumeet wants to empty the pond so he can clean it. \

b e

Sumeet uses a pump to empty the pond.
z,do pump pty the p O.Sn
/6 “_ The volume of water in the pond decreases at a constant rate.
dg"“" 0;29' %?' The level of the water in the pond goes down by 20 cm in the first 30 minutes.
= Y\‘,’ Work out how much more time Sumeet has to wait for the pump to empty the pond
completely.
Volume = CGSAx LengHh
B - . . L 1
csi = hlaxs) ¢sh=2(1-3+05) - 1.8,
=2 2
e \ Fm
= = \W.ém
volume = |- Emt x longtn |V X |-
o 3
Voluwme 0@ odher Tosawdl| V= Ze<imX O Zm = o
(from lpcf- pond)
3 S
- Okm —~ © fTwm P Nous
Roke a'F' vetaume dleesetde (Qente - |
J:Lhouf
828
- | ' s e, % e Kvi'@vW: ghg oo
|.9 +0- € = 18+K —2.2S hows “m teted|
. ) . = gy -—OSL\ .............................
Ahemd:j U.lcu}fed GOMIWUQQJ o n et T wark = 2.25h (Total 6 marks)

= 1+ 35
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18. (a) Write the following five numbers in order of size.

Start with the smallest number.

P V2 =
s o 2 ' — =o.5
Rl B Wighu |

(2)
(b) Simplify [-2—)3
)
Give your answer in the form a V2 where a is an integer.
~2. =z 2
Canlen o = — — | X ( '—'_")
= (-\/’7'_) e ( \r?:) Nz
. B3
B zJz2
<
Tz 2f .
. 2 Jz )
Pﬁh C'():?_gjﬁ — ZJ'_Z _\r_—a (Total 5 marks}
==
. <1
Lt
2 ’2_4"2:
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gporion of Cicles

CMOL)H.(D._@L: >
22+ 'j?' :4
1. Centre = (0/0) Y4
19. ocs = G = 2 5

¥

LI%)
$a
L

—

N lispnengine Grogrs

2
i3 L\/J: cCos X
0 00) 180° ° 360° 450° x

2

(b) On the grid, sketch the graph of y = cos x for 0° < x < 360°
(2)
(Total 4 marks)
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20. Show that

fagorise st
Frecnon

Neow mMmudipl Cj ’

B® 4+ x =15
X

6x°

2x? + 6x2

2o S . [2- S)(X.)é)

2:C (e 42)

simplifies to

'2__7:_,3 'l'"é')(-q'

2 -5 x 6';:_3

22" 2 Az §

Gt (2 —S)

T ZH RS

2 (23 -5)
(25U HS)

3 (K5S).
(}:&- ) (x-)
=t

X2

SW&BU and Mutkiply sy Algorad

Arachal

> = , where g and b are integers.
2x* —11x+15 x+b

(2x-s)

2xt

(Total 3 marks)
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rperpmdio.mkw Lunes

21. A is the point with coordinates (1, 3).

To &t P_QfP.eAdu‘Q Jer
B is the point with coordinates (4, —1).

The straight line L goes through both 4 and B. L nooch arad,; QJ\:\ £ 0[2
Is the line with equation 2y = 3x — 4 perpendicular to line L?

o ¢ eno\ .
You must show how you got your answer. oo Lnes L La
Ly:2q4= 2%~ Ty = Rk
=
(T'L) \j = '}—.z_x-‘_'q- _'.Sradje)\*c{:‘ L..:‘-M"_"'l"
L:.:...(I,'de(lh") L‘li')m‘ef\j:mzf'_‘ -2 — =4
—— 3
n\:jz—’®|
XX
| Y I R %-—\
=2, — =2
?expeﬁd.iadcu o=l Kut Ltk L S = S
' b - F cudas”
Caoncws cov --Ne W
1.
(Total 4 marks)

TOTAL FOR PAPER IS 80 MARKS
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